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Lk = KRBT EE 1635 MAIGHE) HAERITEIE<EBE> 1 5T 26,933,040 87.5%
AR REHA RECHEBIKFU\ER) ERBRIREHFR/NMREXRR(WE) TE<ER> 1 SN 69,571,440 87.4%
T REHA EE3128 HX-REe2X TR (RR)IE<HBE> 1 5T 122,688,000 70.5%
IS CER T FR26FEERILEXE(FHAEIL) ZES<ZEE@> 3 SN 32,389,200 99.6%
Lk m £ KRBT OEA—A(LHRAILER) THR26EHFETAKEEIEIE ME@m> 3 ST 26,460,000 94.9%
AR REHFAT I g Bh SR (BB R) TE <Z@m> 3 SN 21,384,000 92.5%
PR L REHR MARAR K -RER(FE (B IE<EEm> 3 5% 38,608,920 87.2%
e REFFAT IWERXKIR BRABKIE thE@Em> 3 SN 20,952,000 92.2%
T REHA EiE178% REBXIE M1#4<E@m> 3 ST 40,500,000 96.2%
&R X KRB BRR KXEBHERILR *1”3&(%1tﬁ$4)1$ ey <itm> 3 SN 64,260,000 93.7%
BInEREEHA AR BESRREEFESERR M IrO—L A=y RIETE 4 N 18,252,000 91.8%
XALF TR T ER T HE EEER [FLMFATER— )b%n%LJ%%ffﬁEﬂz{E}I% 4 ST 32,184,000 92.0%
XALF AT A T ER T HE R [FTWEABRTSHIHRBEILR—2FETE 4 ST 4,207,680  100.0%
XALF T T ER T HE EEER [FTWIFABTSHAEIBEDOFIEM - DM RIS 4 STYN 5,076,000/  100.0%
XA B R EYRILEEERELIS 4 ST 9,720,000(  100.0%
REKEEFEA FRRFKGHBEEBRETIS AV NEBEEELE) 4 SN 4,158,000 93.4%
RFEKESEFERT FRFKBG2EINBMBHEERVERTHEELIS 4 N 22,248,000 90.1%
REKEEFEA PIKIEERZRB IR EFREIE (TD2) 4 SN 29,268,000 94.7%
REKEEFEA FRFKGETRERHNHEEERISE 4 5% 1,017,833,040 76.2%
REKEEFEA REFKGHIFEEEEISCLBNEERR TR EERE) 4 A 3,024,000 93.3%
REKEEFEA KEZHFKEELIAZBERELIS 4 FN 7,992,000 90.2%
REKEEFEA Zil#EKGHEmE —HBIE 4 FA 4,741,200 94.9%
REKEEFEA KiEFKBEBKROT1EHRIE 4 5% 19,440,000 88.9%
T T KESEHEAT FIIEARERETKE BRI —EREIE(BREREEREIRE) 4 5T 10,476,000 93.8%
T T KERHEAT BEIPRRETKE ER bt 2—EEIE (\KIERD TSRS ELH) 4 ST 11,664,000 94.6%
T KEEFHE RZIRETKE Rt 2—E8EIE CEKR THWERiH) 4 FFot 16,092,000 94.8%
T T KERHEAT REZNFRETKE BRR L2 —EETITE CLR SRR 4 R 16,524,000 90.4%
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T T /KEEFEAN REZNERTRETKE KZNERSE L I—EETIE GEREANELHHEWERR) 4 FF4t 17,280,000 94.4%
T KEEFHEA HINAERETKE &Rt 4—BRIECEEMAHREETH) 4 SN 30,780,000 93.4%
T T KERHEAT REZNRETKE BRF Lo 2—BEIE (RES B 4 5T 31,320,000 93.8%
T T /KEE AT EIhFRET/KE BEEEIE(\KIEBRYTHS —MEWEREE ) 4 FFat 34,506,000 89.8%
T T KEEFEAN REZNERTRETKE KZINERSEEEUI—EEIE (DRERBEZBEER LM 4 FFRA 34,884,000 88.0%
TR T KBRS RENFRETKE EEE L I—EETIE (A-BRKUE#EMERE) 4 FF4t 43,200,000 86.0%
T T KERHEAT REZNFRETKE BRREE 2 —EEIE (C-DRKLIEHEW R H) 4 5T 49,307,400 86.0%
T T /KEE AT RENFRETKE EEE L I—EETIEGERERME - FRHIEEHERRE) 4 el 56,808,000 92.8%
T TKEEHERR BEINEERETKE BEFEE I —BRISE CERRAEHERR) (Z02) 4 ST 61,560,000 94.6%
T TKEEHERR REBIRETKE BRR Lo 2—8E TS GEREEWRR) 4 FFot 64,800,000 99.2%
T T KERHEAT REZNFRETKE BRR b 4 —BEISE CRRERIEEWELE) 4 R 63,396,000 91.9%
T T /KEE AT HIEAERRETKE BARLEE 22— 1'5{%%1%(/?/@'}3%%”&%% 21 (FD1) 4 FFot 75,384,000 94.7%
T T KERHEAT FIAFRRETKE BREXEILS ERHBMHEEHEEER) 4 R 102,492,000 89.9%
T T /KEE AT HNhERETKE EAR bt 2—BRTE GKNIEERERHIHREEEH) 4 FF4 334,800,000 94.4%
T T KERHEAT FIEERETKE BRI BRIZE(CERLEREESRBEES) 4 R 419,472,000 89.9%
EEE REFELRER (758 BRERFARESEEIS 4 SN 3,801,600 91.2%
FER FEXEEEH (F25FENBIRFREERFERIEIE 4 5% 11,372,400 93.4%
EEF FEFEREHAM (FE1S5HENBRABERFIIETS 4 SN 11,372,400 55.4%
Wit £ RE AT FRER HAERRTE (HKR IS 4 5% 17,389,080 90.0%
AL AREHER B FERMERMEFEREISE i 4 SN 30,531,600 86.2%
A+ REHAT MW Mg iR B I TE fth 4 5% 10,778,400 94.7%
BEEHERR E2SBERLTRFEERELIS 4 SN 2,665,440 94.9%
BETEHE %Eﬂ’ﬁ%??ﬁ;?ﬁlaaﬁ#ﬁﬁsﬁzﬁ{%fﬁ%l% 4 5% 25,909,200 95.0%
XALBHREER BEEXLE CHFHEZEI2HERFEREISZ(BREESETSE) 5 A 13,489,200 94.1%
XL B REERR EE SEREFRAFEEIZ(ERIS) 5 A 17,798,400 94.8%
XAL Bt R &R EE BFKFAZZMNSHERFEEISZ(FFfctEERIE) 5 A 26,460,000 94.7%
XALBHREERR BEXILY BEERAZRUVEERRFEEIZ(ERISE) 5 FA 32,400,000 93.5%
XAL Bt R &R EE-FEXLH MERAZRVEEZEIN2ERFEEIS(EYISE) 5 A 41,742,000 94.0%
TR T KEEHFF HINAERRETKE BEEEIE(MKEHEEE) 8 FF4t 4,643,460,000 67.2%




